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1. Choose the correct answer of the following :

1x7=7
oo AR wa Oe0o! i Sfened 8
(i) A cell becomes turgid when placed in

(a) isotonic solution

Contd.



@

M{Ypertonic solution

(c) hypotonic solution

(d) None of the above

@IF <Ol e | QAR @I W A
(@) FAAR TI©

(b) T wT©

(c) WA TI©

(d) '85I<T €18 T

The water held tightly by the soil

particles around them is known as
(a) field capacity
(b) runaway water

(c) hygroscopic water

f(,dj/capillary water
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e e Rens 2w vlkewe St 4R
R ANT @ERI

(a) CFF Ao

(b) AR AT

(c) SHSIAR et

[d) T AR
(i) Guttation takes place through
/M/ stomata

(b) cuticle

() hydathode

(d) lenticel

e e wl =2

(@ = '

(b) FEHE

(c) ToTE

(d) ASTH
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: - ¢}~ Warbur,
(iv) Krebs cycle takes place In y/ g

d
(a) chloroplast (d) Blackman

AERTIATEINS AN 9 SEe SeoF =q
IfT el wffeE

(b) ribosome

,(cj/ mitochondria

(@) B S FH
(d) endoplasmic reticulum

(b) T
(@G 5 RAGS =
(a) ﬁ,m (C) W‘fr
(b) I (d) (EFCH
(c) wEmER (vi) Abscisic acid causes
(d) SRR SifEt (a) faster leaf fall
(v) The oxygen during photosynthesis (b) dormancy of tubers

comes from water, was proved by
(c) retardation of growth

(a) Kamen and Ruben
(d)- All of the above

(b) Hill
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Rfefee afges I
(@) G JE A A
(b) T AKRY

(c) Tfera I afewia
(d) SR AR

(viijj Non-protein part of enzyme is known

as

(a) holoenzyme

/0?// apoenzyme

(c) coenzyme

(d) All of the above

T Sel fon ST (I =
(@) TerEREN

(b) QI

(c) TN

(d) ST AFCEIEE
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n. Write short notes on the following: (any
four) 2x4=8

wete [raiE o (Ol ot ¢ (et ifaon)

(@)
(b)
(c)
(@)
(e)
(f)
(@)
(b)
(c)
(@)
(e)
(f)

Plasmolysis
Role of stomata
Chlorophylls
Macronutrients
Vernalization

Respiratory quotient
A5 i AL
e Qe

el

AT

TR

AN AT

3. Write short notes on the following: (any
three) 5x3=15

weTe AR o Rt ¢ (Fesaear fofon)

(a) Glycolysis

(b) Mechanism of stomatal transpiration
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()
(d)
(e)
(@)
(b)
(c)
(d)
(e)

Answer
questions :

Photoperiodism

Biological nitrogen fixation

Gibberellins

RiESH RIbE

STERIT AT ol
S Al
e Hi2G e AL
[ERalAlEn

any three of the following
10x3=30

wﬁmﬂfﬁﬁw@@w

(@)

(b)

Describe the mechanism of active and

passive absorption of water by roots.
5+5=10

Ryeiq ail (Tl AR W Mg e e
seo sl

What are essential elements in plant
nutrition ? Explain the role of any three
of them and show how their deficiency
affect the plant growth. 2+6+2=10
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(c)

(d)

e 4w <P St CTerg &2 39
Riceizl folab! (e Sfiiet <z fordl o
T AR S e R ool (oo
Skl

What is photosynthesis ? Give an
account on mechanism of CO, fixation
expressing major steps and the end
products in the process. 2+8=10

AT 2 co, e afers 1

HOETE W AR TesAlits Tz TAZeH
3R @it (ol wife i |

Describe Krebs cycle and explain the
functions of various enzymes taking
part in it. 7+3=10
(@G 5F I T WIS 9B AfrEre s
9 [fen Sermes S T S|
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Paper : BOT-HG-3026
( Environmental Biotechnology)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

1. Answer the following as directed : 1x7=7

oo fraicar ot fran et B fa @

(@) Which one of the following is mainly
responsible for ozone layer depletion ?

i) COz

(i) CFC

(iii) CHj

(iv) CO

W 9 R A0 OIS (RO! AT i
a2

() CO;

(i) CFC

i) CH,

(iv) CO
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(b)

(c)

(d)

(e)

Peroxyacetyl nitrate is mainly
responsible for s
(Fill in the blank)

3@ 4N CoiRfHafonizE TREse
kil (T} 31Z 279 )

For which purpose oxidative ponds are
being used ?

F " AR @it 539 I/ = @2
Write the full form of WCED.

WCED I 379} wiw forat|

Who mainly led Narmada Bachao
Andolan ?

i T Sieviene o) @im ¥Rk

Which of the following is responsible
for Bhopal Disaster, 3rd December,
1984 ?

Yob8 5 © FEETHIS MBS Botle (917 TLo-19
IR MG @G 7 e

(i) Methyl isocyanate
[ERIEGACIEFRRIEE

(i) Nuclear explosion

AT KRR
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(iii) Mercury
AR

(iv) Sulphur dioxide
BTN CIRoTIRe

(g) Permissible noise level is measured in

the unit of (Fill in the blank)
SIS X7 B R A0 JIRIH GBI
(R | (T 312 779 F1)
Give very short answers : 2x4=8
wfS 5e T il 8
(@) What 1s biomégniﬁcation ?
tor R et 2

(b) Write a short note on acid rain.
wifes qag TEE @b Y (Gl R
(c) What is xenobiotic compound ?

e e s Iere B e e

(d) What is the role of central and state
pollution boards.

@ R AfeTE el SR gt /52
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Write notes on: (any three) 5x3=15

ol forat ¢ (Remeant fofany)

(a) Salient features of the Forest
Conservation Act, 1980

e FHH S, Sabo I Y PR

(b) Bioreactors
ITREATH

(c) Anthropogenic effect on global

environmental issues

(d) Water pollution

Gel AvFe
(e) Ramsar Convention, 1971

A 5!@133, 5995

(a) Describe various processes used for

wastewater treatment. 10
HCADAl T4 |
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(b)

Or/%d
Write in detail about the role of NGOs

in conservation of biodiversity. 10

T TEPRE o (b e g
FHCE I ol

Write an essay on biotechnological
approach for management of

environmental issues. 10

R TERE 29 {1 TR e o
TeRefe Ra «F Tei T A I <=4 |

Oor/<4q!

Where was Gandhamardan and Silent
Valley Movement organised ? Critically
analyse the impacts and outcome of

those movements. 2+8=10

‘S e A AR A IO
WEbe (2% @2 WCwiew qoiN ASi SIS
FeITe Oifgreid ALEs- 3 |
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4+6=10

; R ? sifReg

=6 M R Tafones T
(AR T A e <) R

Or/eozt

Descrﬂ?e the major recommendati

made in Rio Earth Summit—UNCIgI[l)S
1992. What are the similarities betwe :
Stockholm Conference, 1972 and Re'n
Earth S.umit—UNCED, 1992, %

7+3=10
R R iR etam st f & g
12 | O AT e BTN, Svas AREER
(PR (PR e ety orat T <eft 3w |
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